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1 Phe = 100 umol/| Phe = 120 umol/I

3 Phe = 100 pmol/I Phe = 120 umol/I

6 Phe > 99 umol/I Phe > 110 umol/|

7 Phe = 180 pmol/I Phe > 180 umol/I

8 Phe > 108 umol/I Phe > 120 umol/|

10 Phe > 150 umol/I Phe > 150 pumol/| Phe > 600 umol/|
13 Phe = 120 umol/I Phe = 181.8 | umol/l Phe = 181.8 ! umol/I

14 Phe = 130 pmol/I Phe = 130 umol/I

16 Phe = 100 umol/I Phe = 120 umol/I

17 Phe = 180 umol/I Phe = 180 umol/I Phe = 180 umol/|

20 Phe > 120 umol/I Phe > 120 umol/|

21 Phe = 120 umol/| Phe = 120 umol/I

22 Phe = 84 umol/I Phe = 120 umol/I Phe = 600 umol/l
23 Phe = 150 umol/| Phe = 150 umol/I

24 Phe = 80 umol/I Phe = 100 umol/I Phe = 360 umol/l
25 Phe = 120 umol/I Phe = 120 umol/l Phe = 500 umol/I
27 Phe = 100 umol/I Phe = 120 umol/I

28 Phe = 140 umol/I Phe = 140 umol/I

29 Phe = 108 umol/I Phe = 120 umol/I Phe = 600 umol/l
30 Phe = 80 pmol/I Phe = 120 umol/I

31 Phe = 120 umol/I Phe = 120 umol/I

32 Phe = 150 pmol/I Phe = 150 umol/I Phe = 600 umol/I
33 Phe = 120 umol/I Phe = 120 umol/I

34 Phe > 100 umol/I Phe > 120 pumol/|

37 Phe = 100 umol/I Phe = 120 umol/I

38 Phe = 130 pmol/I Phe = 130 umol/I

40 Phe = 120 umol/I Phe = 150 umol/I Phe = 600 umol/I
42 Phe > 150 umol/I Phe > 180 pumol/|

43 Phe = 162 umol/I Phe = 120 umol/|

47 Phe > 114 umol/I Phe > 120 pumol/|

48 Phe = 80 umol/I Phe = 120 umol/I Phe = 500 umol/I
49 Phe = 120 umol/I Phe = 120 umol/I Phe = 400 umol/I
54 Phe = 120 umol/I Phe = 120 umol/I

59 Phe > 180 umol/I Phe > 180 umol/|

60 Phe > 150 umol/I Phe > 150 pmol/| Phe > 600 pumol/|
64 Phe = 150 umol/I Phe = 150 umol/I Phe = 150 umol/I Phe = 600 umol/I
66 Phe = 100 umol/I Phe = 120 umol/I

67 Phe > ! 100 | pmol/l Phe > ! 120 } umol/l

68 Phe = 140 umol/I Phe = 140 umol/I

69 Phe = 120 umol/I Phe = 120 umol/I Phe = 300 umol/I
71 Phe = 180 umol/I Phe = 180 umol/I Phe = 600 umol/I
73 Phe = 120 umol/I Phe = 120 umol/I

74 Phe = 130 pmol/I Phe = 130 umol/I

75 Phe > 180 umol/I Phe > 180 pumol/| Phe > 600 pumol/I|
76 Phe = 100 umol/I Phe = 120 umol/I

78 Phe = 120 umol/I Phe = 120 umol/I




79 Phe > 120 umol/I Phe > 120 umol/I|
82 Phe > 180 umol/I Phe > 180 pumol/| Phe > 600 pumol/I|
83 Phe = 120 pmol/I Phe = 120 umol/I Phe = 300 umol/I
84 Phe > 150 umol/I Phe > 150 umol/| Phe > 500 pumol/I|
87 Phe = 100 umol/I Phe = 150 umol/I

Phe > 120 umol/I Phe > 120 umol/|
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1 Leu+lle = 300 umol/I Leu+lle = 350 umol/I
& Val = 200 umol/l | & Val = 250 umol/I
3 Leu+lle = 320 umol/I Leu+lle = 350 umol/l
& Val = 230 umol/l | & Val = 250 umol/I
6 Leutlle > 3325 umol/I Leu+lle > 350 umol/|
or Val > 247 umol/I | & Val > 260 umol/|
; Val = 250 umol/I Val > 250 umol/I
or Leu+lle = 350 umol/l | & Leu+lle > 350 umol/|
8 Val > 230 umol/I Val > 256 umol/I
& Leu+lle > 274 umol/l | & Leu+lle > 305 umol/|
10 Leutlle > 360 umol/I Leu+lle > 360 umol/I Leutlle > 600 umol/I
& Val > 300 umol/l | & Val > 300 umol/|
13 Val = 250 umol/I Val = 300 umol/I Leu(XLeuD #) = 267 umol/I
or Leutlle = 300 umol/l | or Leutlle = 350 umol/l | or allo-lle = 0.1 umol/|
14 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I
16 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I
17 Val = 250 umol/I Val = 250 umol/I Leu(XLeuD #) = 230 umol/I
& Leu+lle = 350 umol/l | & Leutlle = 350 umol/I
20 Leu+lle > 350 umol/I Leu+lle > 350 umol/I
& Val > 250 umol/I & Val > 250 pumol/|
”n Leu+lle = 280 umol/I Leu+lle = 280 umol/I
or Val = 180 umol/l | & Val = 180 umol/l
2 Leu+lle = 245 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 175 umol/l | & Val = 250 umol/I
23 Val = 330 umol/I Val = 330 umol/I
& Leu+lle = 350 umol/l | & Leutlle = 350 umol/I
2 Val = 200 umol/I Val = 250 umol/I Leu+lle = 600 umol/I
& Leu+lle = 300 umol/l | & Leutlle = 350 umol/I
- Val = 250 umol/I Val = 250 umol/I Leu+lle = 600 umol/I
or Leu+lle = 340 umol/l | & Leutlle = 340 umol/I
27 Leu+lle = 300 umol/I Leu+lle = 360 umol/I
& Val = 280 umol/l | & Val = 300 umol/I
28 Leu+lle = 360 umol/I Leu+lle = 360 umol/I
or Val = 250 umol/l | & Val = 250 umol/I
29 Leu+lle = 315 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 225 umol/l | & Val = 250 umol/I
30 Leu+lle = 300 umol/I Leu+lle = 350 umol/I
or Val = 250 umol/l | & Val = 250 umol/I
31 Val = 250 umol/I Val = 250 umol/I
or Leu+lle = 350 umol/l | & Leu+lle = 350 umol/l
2 Val = 290 umol/I Val = 290 umol/I Val 2 600 umol/I
or Leu+lle = 360 umol/I | or Leu+lle = 360 umol/I or Leu+lle = 600 umol/l
33 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
& Val = 320 umol/l | & Val = 320 umol/l




" Leu+lle > 290 umol/I Leu+lle > 320 umol/I
& Val > 220 umol/I & Val > 250 umol/|
3 Leu+lle = 300 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 350 umol/I
18 Val = 270 pmol/I Val = 270 umol/I
& Leu+lle = 350 umol/l | & Leu+lle = 350 umol/l
20 Leu+lle = 280 umol/I Leutlle = 350 umol/I Leu+lle = 600 pmol/I
or Val = 240 umol/l | & Val = 300 umol/I
a2 Val > 320 umol/I Val > 250 umol/I
& Leutlle > 320 umol/I & Leu+lle > 350 umol/|
3 Leu+lle = 315 umol/I Leutlle = 350 umol/I
or Val = 225 umol/l | & Val = 250 umol/I
47 Leu+lle > 323 umol/I Leu+lle > 340 pumol/| 2():23/6/14~2023/10/23
or val > 1 285 | pmol/l | & Val > 1 300 1 umol/! FERiREDY MOE
18 Leu+lle = 300 umol/I Leutlle = 350 umol/I Leu+lle = 600 pmol/I
or Val = 250 umol/l | & Val = 250 umol/l
49 Leu+lle = 350 umol/I Leutlle = 350 umol/I Leu+lle = 600 pmol/I
& Val = 320 umol/l | & Val = 320 umol/I
54 Leutlle = 350 umol/I Leutlle = 350 umol/I
59 Val > 250 umol/I Val > 250 umol/I
& Leu+lle > 350 umol/l | & Leu+lle > 350 umol/|
60 Leutlle > 360 umol/I Leu+lle > 360 umol/I Leutlle > 600 umol/I
& Val > 300 umol/l | & Val > 300 umol/|
4 Val = 330 umol/I Val = 330 umol/l Val = 330 umol/I Leu+lle = 478 umol/I
& Leutlle = 350 umol/l | & Leutlle = 350 umol/I Leutlle = 350 umol/|
o6 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I
. Leu+lle = 320 umol/I Leu+lle = 360 umol/I
& Val = 240 umol/l | & Val = 300 umol/l
o8 Leu+lle = 360 umol/I Leu+lle = 360 umol/I
or Val = 250 umol/l | & Val = 250 umol/l
60 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+tlle = 700 umol/l |ValO#HTEFHIERITHR. LueFEOKRNE
or Val = 250 umol/I | or Val = 250 umol/l =,
n Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
& Val = 250 umol/l | & Val = 250 umol/l Val = 250 umol/I
7 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
& Val = 300 umol/l | & Val = 300 umol/I
74 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I
75 Leu+lle > 350 pumol/I Leu+lle > 350 umol/I Leu+lle > 600 umol/I
& Val > 250 umol/l | & Val > 250 umol/|
% Leu+lle = 320 umol/I Leu+lle = 350 umol/I
& Val = 230 umol/l | & Val = 250 umol/I
78 Val = 250 umol/I Val = 250 umol/I
& Leu+lle = 350 umol/l | & Leutlle = 350 umol/I
79 Leu+lle > 350 pumol/I Leu+lle > 350 umol/I
& Val > 250 umol/I & Val > 250 ng/dl
& Val > 250 pumol/I Val > 250 umol/I Leu+lle > 600 umol/I
& Leu+lle > 350 umol/l | & Leu+lle > 350 pumol/|
83 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
84 Val > 320 umol/I Val > 320 pumol/| Leutlle > 560 umol/|
& Leu+tlle > 320 umol/I | & Leu+lle > 320 umol/I|
&7 Leu+lle = 300 umol/I Leu+lle = 320 umol/I
& Val = 230 pumol/l | & Val = 240 umol/I
Leutlle > 350 umol/I Leu+lle > 350 umol/|
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1 Met = 50 umol/I Met = 70 umol/l

3 Met = 60 pmol/I Met = 70 umol/I

6 Met > 57 umol/I Met > 60 umol/|

7 Met = 80 pmol/I Met > 80 umol/I

8 Met > 60 umol/I Met > 67 umol/|

10 Met > 60 umol/I Met > 60 umol/|

13 Met = 70 umol/I Met = 80 umol/l Met = 80 umol/I

14 Met = 80 pmol/I Met = 80 umol/I

16 Met = 60 umol/I Met = 70 umol/I

17 Met = 70 umol/I Met = 70 umol/I Met = 70 umol/|

20 Met > 80 umol/I Met > 80 umol/|

21 Met = 50 umol/| Met = 50 umol/I

22 Met = 50 umol/I Met = 67 umol/I Met = 100 umol/l
23 Met = 67 umol/| Met = 67 umol/I

24 Met = 50 umol/I Met = 50 umol/I

25 Met = 67 umol/I Met = 67 umol/I Met = 340 pmol/I
27 Met = 45 umol/I Met = 60 umol/I

28 Met = 60 umol/I Met = 60 umol/I

29 Met = 72 umol/I Met = 80 umol/I

30 Met = 35 pmol/I Met = 70 umol/I

31 Met = 70 umol/I Met = 70 umol/I

32 Met = 60 umol/I Met = 60 umol/I

33 Met = 50 umol/I Met = 50 umol/I

34 Met > 65 umol/I Met > 80 pumol/|

37 Met = 50 umol/I Met = 60 umol/I

38 Met = 80 pmol/I Met = 80 umol/I

40 Met = 60 umol/I Met = 70 umol/I

42 Met > 67 umol/I Met > 80 pumol/|

43 Met = 72 umol/I Met = 80 umol/I

47 Met > 57 umol/I Met > 60 pumol/|

48 Met = 35 umol/I Met = 70 umol/I Met = 100 umol/I
49 Met = 70 umol/I Met = 70 umol/I

54 Met = 70 umol/I Met = 70 umol/I

59 Met > 80 umol/I Met > 80 umol/|

60 Met > 60 pumol/I Met > 60 umol/I

64 Met = 67 umol/I Met = 67 umol/I Met = 67 umol/I

66 Met = 60 umol/I Met = 70 umol/I

67 Met = 40 umol/I Met = 60 umol/I

68 Met = 60 umol/I Met = 60 umol/I

69 Met = 50 umol/I Met = 50 umol/I Met = 100 umol/I JHCU I BYIOWT, Met240uMA'OMet/Phez
71 Met = 80 umol/I Met = 80 umol/I Met = 100 umol/I
73 Met = 67 umol/I Met = 67 umol/l

74 Met = 80 umol/I Met = 80 umol/I

75 Met > 80 umol/I Met > 80 umol/|

76 Met = 60 umol/I Met = 70 umol/I

78 Met = 70 umol/I Met = 70 umol/l




79 Met > 80 umol/I Met > 80 umol/I|
82 Met > 80 umol/I Met > 80 umol/|
83 Met = 70 pmol/I Met = 70 umol/I Met = 240 umol/I
84 Met > 67 umol/I Met > 67 umol/|
87 Met = 50 pmol/I Met = 80 umol/I
Met > 80 umol/I Met > 60 umol/|
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1 Cit = 50 umol/I Cit = 70 umol/l

3 Cit = 50 pmol/I Cit = 80 umol/I

6 Cit > 47.5 umol/I Cit > 50 umol/|

7 Cit = 100 pmol/I Cit > 100 umol/I

8 Cit > 61 umol/I Cit > 68 umol/|

10 Cit > 85 umol/I Cit > 85 umol/| Cit > 300 umol/I
13 Cit = 80 umol/I Cit = 100 umol/I Cit = 100 umol/I

or ASA = 1.5 umol/I

14 Cit = 80 umol/I Cit = 80 umol/I

16 Cit = 35 umol/I Cit = 80 umol/I

17 Cit = 50 umol/I Cit = 50 umol/I

20 Cit > 100 umol/I Cit > 100 umol/|

21 Cit = 40 umol/I Cit = 40 umol/I

22 Cit = 46 umol/| Cit = 65 umol/I Cit = 300 pmol/I
23 Cit = 85 umol/I Cit = 85 umol/I

24 Cit = 36 umol/I Cit = 100 umol/I Cit = 300 pmol/I
25 Cit > 100 umol/I Cit > 100 umol/| Cit > 250 umol/|
27 Cit = 40 umol/I Cit = 85 umol/I

28 Cit = 65 umol/I Cit = 65 umol/I

29 Cit = 90 umol/I Cit = 100 umol/l Cit = 300 umol/I
30 Cit = 50 umol/I Cit = 100 umol/I

31 Cit = 60 umol/I Cit = 60 umol/I

32 Cit = 85 umol/I Cit = 85 umol/I Cit = 300 umol/I
33 Cit = 60 umol/I Cit = 60 umol/l

34 Cit > 70 umol/I Cit > 85 umol/I

37 Cit = 70 umol/I Cit = 85 umol/l

38 Cit = 100 umol/I Cit = 100 umol/I

40 Cit = 60 umol/I Cit = 80 umol/l Cit = 140 umol/I
42 Cit > 90 pumol/I Cit > 90 umol/I

43 Cit = 90 umol/I Cit = 100 umol/I

47 Cit > 47.5 pumol/I Cit > 50 umol/I Cit > 250 umol/I
48 Cit = 50 umol/I Cit = 100 umol/I Cit = 300 umol/I
49 Cit = 60 umol/I Cit = 60 umol/I Cit = 180 umol/I
54 Cit = 80 umol/I Cit = 80 umol/I

59 Cit > 80 pumol/I Cit > 80 umol/I

60 Cit > 85 umol/I Cit > 85 pumol/| Cit > 300 umol/|
64 Cit = 85 umol/I Cit = 85 umol/I Cit = 85 umol/I Cit = 300 umol/I
66 Cit = 35 umol/I Cit = 80 umol/I

67 Cit = 40 umol/I Cit = 85 umol/I

68 Cit = 65 umol/I Cit = 65 umol/I

Cit/Total_AA = | 0.025 ratio Cit/Total_AA = 0.025 ratio Cit = 100 umol/l | MV>IAE T B3, Cit/AAZ0.025 (EMHEE

69 o ASA = 05 | wmot | or ASA = 05 | umolf HYMATMECItZ100pM) T, PIVEZJ\IBER
71 Cit = 100 pmol/I Cit = 100 umol/I Cit = 300 umol/I
73 Cit = 55 umol/I Cit = 55 umol/l

74 Cit = 80 umol/I Cit = 80 umol/I

75 Cit > 100 umol/I Cit > 100 umol/| Cit > 300 umol/|




76 Cit = 50 pmol/I Cit = 80 umol/I
78 Cit = 60 umol/I Cit = 60 umol/l
79 Cit > 100 umol/I Cit > 100 umol/I|
82 Cit > 50 umol/I Cit > 50 umol/| Cit > 80 umol/|
83 Cit = 80 pmol/I Cit = 80 umol/I Cit = 300 umol/I
84 Cit > 90 umol/I Cit > 90 umol/| Cit > 270 umol/|
87 Cit = 80 pmol/I Cit = 100 umol/I

Cit > 100 umol/I Cit > 100 umol/|
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1 Cc3 = 35 umol/I c3 = 4 umol/I
& c3/c2 > ! 022 | ratio c3/c2 > i 025 ratio
3 c3 = 3.2 umol/I c3 = 36 umol/l
& c3/c2 > ! 019 | ratio c3/c2 > 023 ratio
6 Cc3 > 3.325 umol/I Cc3 > 3.5 umol/|
or C3/C2 > | 0.1805 ratio C3/C2 > 0.19 ratio
; c3 = 3.6 umol/I c3 > 36 umol/I
or C3/C2 = 0.2 ratio C3/C2 > 0.2 ratio
8 Cc3 > 3.24 umol/I Cc3 > 3.6 umol/I
& C3/C2 > 0.22 ratio C3/C2 > 0.25 ratio
10 Cc3 > 3.6 umol/I Cc3 > 3.6 umol/I Cc3 > 8 umol/I
& C3/C2 > 0.23 ratio C3/C2 > 0.23 ratio c3/C2 > 0.25 ratio
13 Cc3 = 3 umol/I c3 = 3.6 umol/l
& c3/C2 = 0.2 ratio c3/c2 = 0.25 ratio
14 Cc3 = 4 umol/I c3 = 4 umol/I
or c3/C2 = 0.25 ratio c3/c2 = 0.25 ratio
16 Cc3 = 4 umol/I c3 = 4 umol/I
or c3/C2 = 0.25 ratio c3/Cc2 = 0.25 ratio
17 Cc3 = 3.5 umol/I c3 = 35 umol/l
& c3/C2 = 0.25 umol/I C3/C2 = 0.25 umol/I
20 c3 > 3.5 umol/I Cc3 > 3.5 umol/I
& C3/C2 > 0.23 ratio C3/C2 > 0.23 ratio
”n c3 = 3.8 umol/I c3 = 3.8 umol/I
or c3/C2 = 0.22 umol/I C3/C2 = 0.22 umol/I
2 c3 = 3.5 umol/I c3 = 3.5 umol/I c3 = 8 umol/I
or c3/C2 = 0.22 ratio C3/C2 = 0.22 ratio c3/C2 = 0.25 ratio
23 c3 = 3.6 umol/I c3 = 3.6 umol/I
& C3/C2 = 0.22 ratio C3/C2 = 0.22 ratio
2 c3 = 3 umol/I c3 = 3.6 uu/mi c3 = 8 umol/I
& C3/C2 = 0.2 ratio C3/C2 = 0.25 ratio c3/C2 = 0.25 ratio
2 c3 > 39 pumol/I c3 > 3.9 umol/I c3 > 8 umol/I
or c3/c2 > 0.24 ratio c3/c2 > 0.24 ratio c3/c2 > 0.24 ratio
27 c3 = 3.6 umol/I c3 = 4.4 umol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
28 c3 = 3.6 umol/I c3 = 3.6 umol/I
or c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio
29 c3 = 3.24 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
or c3/c2 = 0.23 ratio c3/c2 = 0.25 ratio c3/C2 = 0.25 ratio
30 c3 = 3.45 umol/I c3 = 3.5 umol/I
or c3/c2 = 0.2 ratio c3/c2 = 0.25 ratio
31 c3 = 3.6 umol/I c3 = 3.6 umol/I
or c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio
2 c3 = 3.5 umol/I c3 = 3.5 umol/I [e] 2 8 umol/I
& c3/c2 > ! 022 | umol/l 3/C2 > ! 022 | umol/l c3/c2 > 1 025 ! umol/l
33 c3 = 4 umol/I c3 = 4 umol/I
& c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio




34 C3 > 3.3 umol/I c3 > 3.3 umol/I
& C3/C2 > 0.22 ratio & C3/C2 > 0.22 ratio
37 c3 = 3.6 umol/I c3 = 3.8 umol/I
or c3/c2 = 0.22 ratio & c3/c2 = 0.24 ratio
18 c3 = 3.6 pmol/I c3 = 3.6 umol/I
& c3/c2 > 1 025 | umol/l | & c3/C2 > 1 025 | pmol/l
0 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 pmol/I
or C3/C2 = 0.2 ratio & C3/C2 = 0.24 ratio C3/C2 = 0.24 ratio
a2 c3 > 3.6 umol/I c3 > 3.6 umol/I
& C3/C2 > 0.25 ratio & C3/C2 > 0.25 ratio
4 c3 = 3.6 umol/I c3 = 3.6 umol/I
or C3/C2 = 0.23 ratio & C3/C2 = 0.25 ratio
c3 > | 4.275 | pmol/l c3 > 4.5 umol/| c3 > 8 umol/l |2023/6/14~2023/10/23
47 or c3/c2 > 1 019 | ratio | & c3/c2 > 1 02 | ratio ReRRE Y MAOfE
or C3 > 5 umol/| ’C“3, >—.3'9linj?\|/l.-
a8 c3 = 3.4 umol/I c3 = 35 umol/I Cc3 = 8 umol/I
or c3/c2 = 0.2 ratio & c3/c2 = 0.25 ratio
49 Cc3 = 4 umol/I c3 = 4 umol/I Cc3 = 10 umol/l
& c3/c2 > ! 025 | rato | & c3/c2 > 1 025 ratio c3/c2 > ! 025 ratio
" Cc3 = 4 umol/I Cc3 = 4 umol/I
& c3/c2 > ! 025 | rato | & c3/c2 > i 025 ratio
59 Cc3 > 3.6 umol/I Cc3 > 3.6 umol/I
& C3/C2 > 0.25 ratio & C3/C2 > 0.25 ratio
60 Cc3 > 3.6 umol/I Cc3 > 3.6 umol/I Cc3 > 8 umol/I
& C3/C2 > 0.23 ratio & C3/C2 > 0.23 ratio c3/C2 > 0.25 ratio
4 Cc3 = 3.6 umol/I Cc3 = 3.6 umol/I c3 = 3.6 umol/I Cc3 = 8 umol/I
& c3/c2 > 1! 022 | rato | & c3/c2 > | 022 ratio c3/c2 > ! 022 | ratio c3/c2 = ! 025 ratio
o6 Cc3 = 4 umol/I c3 = 4 umol/I
or c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio
67 c3 = 3.8 umol/I c3 = 4.4 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio
68 c3 = 3.6 umol/I c3 = 3.6 umol/I
or c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio
60 c3 = 4 umol/I c3 = 4 umol/I c3 = 4 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio c3/C2 = 0.35 ratio
- c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio c3/C2 = 0.25 ratio
7 c3 = 3.6 umol/I c3 = 3.6 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio
71 c3 = 4 umol/I c3 = 4 umol/I
or c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio
75 c3 > 3.6 pumol/I c3 > 3.6 umol/I c3 > 8 umol/I
& C3/C2 > 0.25 ratio & C3/C2 > 0.25 ratio C3/C2 > 0.25 ratio
7 c3 = 3.2 umol/I c3 = 3.6 umol/I
& C3/C2 = 0.19 ratio & C3/C2 = 0.23 ratio
78 c3 = 3.6 umol/I c3 = 3.6 umol/I
& c3/C2 = 0.25 umol/l | & c3/C2 = 0.25 umol/I
79 c3 > 3.5 pumol/I c3 > 3.5 umol/I
& C3/C2 > 0.25 ratio & C3/C2 > 0.25 ratio
& c3 > 3.6 umol/I c3 > 3.6 umol/I c3 > 8 umol/I
& C3/C2 > 0.25 ratio & C3/C2 > 0.25 ratio C3/C2 > 0.25 ratio
83 c3 = 4 umol/I c3 = 4 umol/I [e] 2 8 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio c3/C2 = 0.25 ratio
84 C3 > 3.6 umol/I c3 > 3.6 umol/I Cc3 > 7.6 umol/I
& c3/c2 > 0.25 ratio & c3/c2 > 0.25 ratio c3/c2 > 0.25 ratio




87 c3 = 3.5 umol/I c3 = 3.6 umol/I
c3/c2 = 0.2 ratio c3/c2 = 0.22 ratio

C3 > 3.5 umol/I c3 > 2.7 umol/I

c3/c2 > 0.25 ratio c3/c2 > 0.25 ratio
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1 c5 = 0.6 umol/I C5 = 1 umol/l
3 C5 = 0.7 pmol/I C5 = 1 umol/I
6 C5 > 0.95 umol/I C5 > 1 umol/|
7 C5 = 1 pmol/I C5 > 1 umol/I
8 C5 > 0.9 umol/I C5 > 1 umol/|
10 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/I
13 c5 = 0.9 umol/I C5 = 1 umol/l
14 C5 = 1 pmol/I C5 = 1 umol/I
16 c5 = 1 umol/I C5 = 1 umol/I
17 C5 = 1 umol/I C5 = 1 umol/I
20 c5 > 1 umol/I C5 > 1 umol/|
21 C5 = 0.8 umol/| C5 = 0.8 umol/I
22 c5 = 0.9 umol/I C5 = 1 umol/I C5 = 5 umol/l
23 C5 = 1 umol/| C5 = 1 umol/I
24 c5 = 0.7 umol/I C5 = 1 umol/I C5 = 5 umol/l
25 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/I|
27 c5 = 0.8 umol/I C5 = 0.9 umol/I
28 C5 = 1 umol/I C5 = 1 umol/I
29 c5 = 0.9 umol/I C5 = 1 umol/I C5 = 5 umol/I
30 cs > 05 | umoll s > 1 umol/I
31 c5 = 1 umol/I c5 = 1 umol/I
32 C5 = 1 umol/I C5 = 1 umol/l C5 = 5 umol/I
33 c5 = 1 umol/I c5 = 1 umol/I
34 C5 > 0.85 umol/I C5 > 1 pumol/|
37 c5 = 0.8 umol/I cs5 = 1 umol/I
38 C5 = 1 umol/I c5 = 1 umol/I
40 c5 = 0.8 umol/I c5 = 1 umol/I cs = 5 umol/I
42 C5 > 1 umol/I C5 > 1 pumol/|
43 c5 = 0.9 umol/I c5 = 1 umol/I
47 C5 > 0.95 umol/I C5 > 1 pumol/| C5 > 5 umol/|
48 c5 = 0.5 umol/I cs = 1 umol/I cs5 = 5 umol/I
49 C5 = 1 umol/I c5 = 1 umol/I C5 = 5 umol/I
54 c5 = 1 umol/I cs = 1 umol/I
59 C5 > 1 umol/I C5 > 1 umol/|
60 c5 > 1 pumol/I C5 > 1 umol/I C5 > 5 umol/I
64 C5 = 1 umol/I c5 = 1 umol/I c5 = 1 umol/I C5 = 5 umol/I
66 c5 = 1 umol/I cs = 1 umol/I
67 C5 = 0.8 umol/I c5 = 0.9 umol/I
68 c5 = 1 umol/I cs = 1 umol/I
69 C5 = 1 umol/I C5 = 1 umol/I C5 = 2 umol/I
71 c5 = 1 umol/I c5 = 1 umol/I
73 c5 = 1 umol/I [ = 1 umol/l
74 c5 = 1 umol/I c5 = 1 umol/I
75 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/|
76 c5 = 0.7 umol/I cs5 = 1 umol/I
78 c5 = 1 umol/I [ = 1 umol/l




79 C5 > 1 umol/I C5 > 1 umol/I|
82 C5 > 1 umol/I C5 > 1 umol/| C5 > umol/|
83 C5 = 1 pmol/I C5 = 1 umol/I C5 = umol/I
84 C5 > 1 umol/I C5 > 1 umol/| C5 > umol/|
87 C5 = 0.7 pmol/I C5 = 1 umol/I

C5 > 1 umol/I C5 > 1 umol/|
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1 C5-OH > 06 | umol/l C5-OH > 1 umol/I
3 C5-OH = 0.7 pmol/I C5-OH = 1 umol/I
6 C5-OH > 0.95 umol/I C5-0OH > 1 umol/|
7 C5-OH = 1 pmol/I C5-OH > 1 umol/I
8 C5-OH > 1 09 ! umol/l C5-OH > 1 umol/I
10 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/I
13 C5-OH > 1 09 ! umol/l C5-OH > 1 umol/I
14 C5-OH = 1 pmol/I C5-OH = 1 umol/I
16 C5-OH = 1 umol/I C5-0OH = 1 umol/I
17 C5-OH = 1 umol/I C5-OH = 1 umol/I
20 C5-OH > 1 umol/I C5-OH > 1 umol/|
21 C5-OH = 0.8 umol/| C5-OH = 0.8 umol/I
22 C5-OH = 0.9 umol/I C5-0OH = 1 umol/I C5-OH = 2 umol/l
23 C5-OH = 1 umol/| C5-OH = 1 umol/I
24 C5-OH = 0.7 umol/I C5-0OH = 1 umol/I C5-OH = 2 umol/l
25 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/I|
27 C5-OH = 0.8 umol/I C5-0OH = 0.9 umol/I
28 C5-OH = 1 umol/I C5-OH = 1 umol/I
29 C5-OH = 0.9 umol/I C5-0OH = 1 umol/I C5-OH = 2 umol/l
30 C5-0H > 05 | umoll C5-OH > 1 umol/I
31 C5-OH = 1 umol/I C5-OH = 1 umol/I
32 C5-OH = 1 pmol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
33 C5-OH = 0.9 umol/I C5-OH = 0.9 umol/I
34 C5-OH > 0.85 umol/I C5-OH > 1 pumol/|
37 C5-OH = 0.8 umol/I C5-OH = 1 umol/I
38 C5-OH = 1 pmol/I C5-OH = 1 umol/I
40 C5-OH = 0.8 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
42 C5-OH > 1 umol/I C5-OH > 1 pumol/|
43 C5-OH = 0.9 umol/I C5-OH = 1 umol/I
47 C5-OH > 0.95 umol/I C5-OH > 1 pumol/| C5-OH > 2 umol/|
48 C5-OH = 0.5 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
49 C5-OH = 0.9 umol/I C5-OH = 0.9 umol/I C5-OH = 2 umol/I
54 C5-OH = 1 umol/I C5-OH = 1 umol/I
59 C5-OH > 1 umol/I C5-0OH > 1 umol/|
60 C5-OH > 1 pumol/I C5-OH > 1 umol/I C5-OH > 2 umol/I
64 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
66 C5-OH = 1 umol/I C5-OH = 1 umol/I
67 C5-OH > ! 07 | umoll C5-OH > ! 09 | umol/l
68 C5-OH = 1 umol/I C5-OH = 1 umol/I
69 C5-OH = 1 umol/I C5-OH = 1 umol/I
71 C5-OH = 1 umol/I C5-OH = 1 umol/I
73 C5-OH > 1 umol/| C5-OH > 1 umol/I
74 C5-OH = 1 umol/I C5-OH = 1 umol/I
75 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/|
76 C5-OH = 0.7 umol/I C5-OH = 1 umol/I
78 C5-OH > 1 umol/| C5-OH > 1 pmol/I




79 C5-OH > 1 umol/I C5-OH > 1 umol/I|
82 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > umol/|
83 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = umol/I
84 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > umol/|
87 C5-OH = 0.8 umol/I C5-OH = 1 umol/I

C5-OH > 1 umol/I C5-OH > 1 umol/|
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1 5-DC > | 025 ! umol/l €5-DC > 1 03 | pmol/l
3 C5-DC = 0.32 pmol/I C5-DC = 0.35 umol/I
6 C5-DC > 0.1995 | umol/| C5-DC > 0.21 umol/|
7 C5-DC = 0.25 umol/I C5-DC > 0.25 umol/|
8 C5-DC > 0.27 umol/I C5-DC > 0.3 umol/|
10 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
13 5-DC > 1 02 ! umol/l €5-DC > 1 025 | pmol/l
14 €5-DC > ! 035 | umol/l €5-DC > ! 035 } umol/l
16 C5-DC = 0.27 umol/I C5-DC = 0.27 umol/I
17 €5-DC > ! 025 | umol/l €5-DC > ! 025 | umol/l
20 C5-DC > 0.3 umol/I C5-DC > 0.3 umol/|
21 C5-DC = 0.3 umol/| C5-DC = 0.3 umol/I
22 C5-DC = 0.26 umol/I C5-DC = 0.29 umol/I
23 €5-DC =1 025 | umol/l €5-DC > ! 025 } umol/l
24 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
25 C5-DC > 0.35 umol/I C5-DC > 0.35 pumol/|
27 C5-DC = 0.18 umol/I C5-DC = 0.24 umol/I
28 €5-DC > ! 022 | umol/l €5-DC > | 022 | umol/l
29 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
30 C5-DC > 02 | umol/l €5-DC > 1 03 | pumol/l
31 C5-DC = 0.25 umol/I C5-DC = 0.25 umol/I
32 C5-DC > 1 025 | umol/l C5-DC > 1 025 | pmol/l
33 C5-DC = 0.35 umol/I C5-DC = 0.35 umol/I
34 C5-DC > 0.22 umol/I C5-DC > 0.25 pumol/|
37 C5-DC = 0.2 umol/I C5-DC = 0.22 umol/I
38 C5-DC > 1 035 ! umol/l C5-DC > 1 035 ! pmol/l
40 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
42 C5-DC > 0.3 umol/I C5-DC > 0.31 pumol/|
43 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
47 C5-DC > 1 0.2375 | pmol/I C5-DC > 0.25 | umol/| 2023/6/14~2023/10/23
48 C5-DC = 0.25 umol/I C5-DC = 0.3 umol/I
49 C5-DC > | 025 | umol/l C5-DC > 1 025 | pmol/l
54 C5-DC = 0.3 umol/I C5-DC = 0.3 umol/I
59 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
60 C5-DC > 0.25 umol/I C5-DC > 0.25 pmol/|
64 C5-DC > 1 025 | umol/l C5-DC > 1 025 | pmol/l C5-DC > 1 025 | pmol/l
66 €5-DC =1 027 | umol/l €5-DC > ! 027 | umol/l
67 C5-DC > 1 025 | umol/l C5-DC > 1 028 | pmol/l
68 €5-DC > ! 022 | umol/l €5-DC > ! 022 | umol/l
69 C5-DC > | 035 | umol/l €5-DC > 1 035 | pmol/l C5-DC > 1 07 | umol/l
71 €5-DC = ! 035 | pmol/l €5-DC > ! 035 | umol/l
73 C5-DC > ! 025 | pmol/l C5-DC > 1 025 | pmol/l
74 5-DC Z ! 035 | pmol/l €5-DC > 1 035 | pmol/l
75 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
76 5-DC Z ! 032 | pmol/l €5-DC > 1 035 | pmol/l
78 €5-DC > ! 029 | pmol/l €5-DC > 1 029 | pmol/l




79 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
82 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
83 C5-DC = 0.3 pmol/I C5-DC = 0.3 umol/I
84 C5-DC > 0.3 umol/I C5-DC > 0.3 umol/|
87 C5-DC = 0.27 pmol/I C5-DC = 0.3 umol/I

C5-DC > 0.25 umol/I C5-DC > 0.25 umol/I
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1 cs = 0.2 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1.4 ratio
3 cs = 0.25 umol/I c8 = 0.3 umol/l
& C8/C10 = 0.8 ratio C8/C10 = 1 ratio
6 Cc8 > 0.22 umol/I Cc8 > 0.23 umol/|
or C8/C10 > 1.44 ratio C8/C10 > 1.6 ratio
; cs = 03 umol/I c8 > 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 > 1.4 ratio
8 Cc8 > 0.27 umol/I Cc8 > 0.3 umol/I
& C8/C10 > 0.9 ratio C8/C10 > 1 ratio
10 Cc8 > 0.3 umol/I Cc8 > 0.3 umol/I
C8/C10 > 1.8 ratio C8/C10 > 1.8 ratio
13 cs = 0.25 umol/I c8 = 0.3 umol/l
& C8/C10 = 0.9 ratio C8/C10 = 1 ratio
14 cs = 0.3 umol/I c8 = 0.3 umol/I
or C8/C10 = 2 ratio C8/C10 = 1.5 ratio
16 cs = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
17 cs = 0.3 umol/I c8 = 0.3 umol/l
& C8/C10 = 1 umol/I C8/C10 = 1 umol/I
20 Cc8 > 0.3 umol/I c8 > 0.3 umol/I
& C8/C10 > 1.4 ratio C8/C10 > 1.4 ratio
”n c8 = 0.27 umol/I cs = 0.27 umol/I
or C8/C10 = 1.5 umol/I C8/C10 = 1.5 umol/I
2 c8 = 0.3 umol/I cs = 0.3 umol/I c8 = 0.5 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
23 c8 = 0.3 umol/I cs = 0.3 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
2 c8 = 0.2 umol/I cs = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio C8/C10 = 1 ratio
2 Cc8 > 0.28 pumol/I Cc8 > 0.28 umol/I Cc8 > 0.28 umol/I
or c8/c10 > 1.2 ratio c8/c10 > 1.2 ratio C8/C10 > 1.2 ratio
27 c8 = 0.15 umol/I cs = 0.3 umol/I
& C8/C10 = 1.3 ratio C8/C10 = 1.4 ratio
28 c8 = 0.3 umol/I c8 = 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
29 c8 = 0.27 umol/I c8 = 03 umol/I c8 = 03 umol/I |BHRMMEATHRN
& C8/C10 = 1 ratio C8/C10 = 1 ratio C8/C10 = 1 ratio
30 c8 = 0.2 umol/I cs = 0.27 umol/I
or C8/C10 = 1.2 ratio C8/C10 = 1.4 ratio
31 c8 = 0.3 umol/I cs = 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
2 c8 = 0.3 umol/I c8 = 0.3 umol/I
& €8/C10 > ! 18 | umol/l 8/C10 > 1 18 | pmol/l
33 c8 = 0.25 umol/I c8 = 0.25 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio




34 Cc8 > 0.35 umol/I c8 > 0.4 umol/I
& C8/C10 > 0.99 ratio C8/C10 > 1 pumol/|
37 c8 = 0.25 umol/I c8 = 0.3 umol/I c8 2 0.3 umol/I
or C8/C10 = 1.5 ratio C8/C10 = 1.7 ratio C8/C10 = 1.7 ratio
18 c8 = 0.3 pmol/I c8 = 0.3 umol/I
& €8/C10 > 1 16 | umoll 8/C10 > ! 16 | umol/l
0 c8 = 0.2 umol/I c8 = 0.3 umol/I c8 = 0.5 pmol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
a2 c8 > 0.28 umol/I c8 > 0.3 umol/I
& C8/C10 > 1.4 ratio C8/C10 > 1.3 ratio
4 c8 = 0.27 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
47 c8 > 0.22 umol/I c8 > 0.23 umol/I c8 > 0.23 umol/I
or C8/C10 > 1.44 ratio C8/C10 > 1.6 ratio C8/C10 > 1.6 ratio
18 c8 = 0.2 umol/I c8 = 0.27 umol/I c8 = 0.5 pmol/I
or C8/C10 = 1.2 ratio C8/C10 = 1.4 ratio
9 c8 = 0.25 umol/I c8 = 0.25 umol/I c8 = 0.6 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
" c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
9 c8 > 0.3 umol/I c8 > 0.3 umol/I
& C8/C10 > 1.4 ratio C8/C10 > 1.4 ratio
60 c8 > 0.3 umol/I c8 > 0.3 umol/I
C8/C10 > 1.8 ratio C8/C10 > 1.8 ratio
4 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
66 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
o 8 > | 023 | pmol/l 8 > 1 03 | umol/l
& C8/C10 = 1.3 ratio C8/C10 = 1.4 ratio
o 8 > ! 03 | umoll c8 > 1! 03 | umol/l
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
69 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.5 umol/I
& C8/C10 = 1.5 ratio C8/C10 = 1.5 ratio C8/C10 = 1.5 ratio
" c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
N 8 > ! 03 | pumoll c8 > ! 03 | umol/l
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
2 8 > ! 03 | pumoll c8 > ! 03 | umol/l
or C8/C10 = 2 ratio C8/C10 = 2 ratio
75 Cc8 > 0.3 umol/I Cc8 > 0.3 umol/I
& Cc8/c10 > 1.4 ratio c8/c10 > 1.4 ratio
% c8 = 0.25 umol/I c8 = 0.3 umol/I
& C8/C10 = 0.8 ratio C8/C10 = 1 ratio
78 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.4 umol/I C8/C10 = 1.4 umol/I
79 Cc8 > 0.3 umol/I Cc8 > 0.3 umol/I
& Cc8/c10 > 1 ratio c8/c10 > 1 ratio
2 Cc8 > 0.3 umol/I Cc8 > 0.3 umol/|
& Cc8/C10 > 1.4 ratio Cc8/c10 > 1.4 ratio
83 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
84 Cc8 > 0.28 umol/I Cc8 > 0.28 pmol/| Cc8 > 0.72 umol/|
& C8/C10 > 1.4 ratio C8/C10 > 1.4 ratio C8/C10 > 1.4 ratio
c8 = 0.28 umol/I [« = 0.3 umol/I c8 = 0.3 umol/I

Q7
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C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
Cc8 > 0.3 umol/I c8 > 0.3 umol/|
C8/C10 > 1 ratio C8/C10 > 1 ratio
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hybATfE hyhADfE (EHEHEEOHER) hyhATfE =
3ENo <hYy f*?fjﬂﬁ(i*%%ﬁﬁmrgaﬁ HYMAMBRIRESEEH TR <hy F?7E(1T\§f%€§®f§ﬂiﬁ DYMATERTESEEH TEH
-HEIHE, /-2 ANBOVTNHR [ TEE HESHE, )~ A IUEOVIT N R (STEE -HEIHE, (> HNBEOVINHR (dTEE -HEXHE, /(—E>HIUEOVTNA X FTEE
1 C14:1 = 0.2 umol/I C14:1 = 0.35 umol/I
& C14:1/C2 > ! 001 | ratio c14:1/C2 > | 0013 | ratio
3 C14:1 = 0.25 umol/I C14:1 = 0.3 umol/l
& C14:1/C2 > ! 001 | ratio c14:1/C2 > | 0012 | ratio
6 Cl4:1 > 0.209 umol/I Cl4:1 > 0.22 umol/|
or C14:1/C2 > 10.01045 ratio C14:1/C2 > 0.011 ratio
C14:1 = 03 umol/I C14:1 > 0.3 umol/I
7 or Cl4:1/C2 = 0.013 ratio C14:1/C2 > 0.013 ratio
or C14:1/C10 = 3 ratio
8 C14:1 > 0.36 umol/I Cl4:1 > 0.4 umol/I
& C14:1/C2 > 0.0117 ratio C14:1/C2 > 0.013 ratio
10 Cl4:1 > 0.3 umol/I C14:1 > 0.3 umol/I
C14:1/C2 > 0.02 ratio C14:1/C2 > 0.02 ratio
13 Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
1 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.012 ratio C14:1/C2 = 0.012 ratio
16 Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
17 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 { umol/I C14:1/C2 = 0.013 | umol/I
20 C14:1 > 0.4 umol/I Cl4:1 > 0.4 pumol/I
& Cl4:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio
”n C14:1 = 0.27 umol/I C14:1 = 0.27 umol/I
or C14:1/C2 = 0.013 | umol/I C14:1/C2 = 0.013 | umol/I
- Cl4:1 = 0.27 umol/I Cl4:1 = 0.27 | pmol/I Cl4:1 = 1 pmol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
23 C14:1 = 03 umol/I C14:1 = 0.3 umol/I
& C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
24 & C14:1/C10 = 1 ratio C14:1/C10 = 1 ratio C14:1/C10 = 1 ratio
& C14:1/C12 = 1 ratio C14:1/C12 = 1 ratio C14:1/C12 = 1 ratio
2 Cl4:1 > 0.3 pumol/I Cl4:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I
or C14:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio
27 C14:1 = 0.21 umol/I Cl4:1 = 0.27 umol/I
& C14:1/C2 = 0.016 ratio C14:1/C2 = 0.024 ratio
28 C14:1 = 0.35 umol/I Cl4:1 = 0.35 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
29 Cl4:1 = 0.36 umol/I C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I |BHRMEATHRN
or C14:1/C2 = 0.012 ratio C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
30 C14:1 = 0.2 umol/I Cl4:1 = 0.3 umol/I
or C14:1/C2 = 0.01 ratio C14:1/C2 = 0.013 ratio
a1 Cl4:1 = 0.3 umol/I C14:1 = 0.3 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
2 Cl4:1 = 0.26 umol/I C14:1 = 0.26 | pmol/I Cl4:1 2 0.26 | pmol/I
& C14:1/C2 > | 002 | pmol/l c14:1/C2 > ! 002 | umol/l c14:1/c2 > 1 002 ! pmol/l




33 Cl4:1 = 0.3 umol/I Cl4:1 = 0.3 umol/I
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
Cl4:1 > 0.35 umol/I C14:1 > 0.4 umol/I
34 & C14:1/C10 > 1 ratio & C14:1/C10 > 1 ratio
& C14:1/C12 > 1 ratio & C14:1/C12 > 1 ratio
5 c14:1 > | 023 | pmol/l c14:1 > ! 025 | umol/l c14:1 > 1 025 | umol/l
or C14:1/C2 > ! 0012 | rato | & c14:1/C2 > | 0013 | ratio c14:1/C2 > ! 0013 | ratio
38 C14:1 = 0.35 umol/I C14:1 = 0.35 umol/l
& C14:1/C2 > | 0015 | pymol/l | & c14:1/C2 > | 0015 | pmol/l
20 C14:1 = 03 umol/I C14:1 = 0.4 umol/I C14:1 = 1 umol/I
or C14:1/C2 > ! 0013 | rato | & C14:1/C2 > | 0013 | ratio
Cl4:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I
42 & Cl4:1/C2 > 0.011 ratio & C14:1/C2 > 0.011 ratio
& C14:1/C10 > 1 ratio & C14:1/C10 > 1 umol/|
4 Cl4:1 = 0.36 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.013 ratio
“ c14:1 > ! 0209 | pmol/l c14:1 > 1 022 | umol/l c14:1 > ! 022 | umol/l iﬂ:ﬁ’iff:‘{a‘\gf:1>m4&c12&c1o
or C14:1/C2 > 10.01235} ratio & C14:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio BILERVBAEER
18 Cl4:1 = 0.2 umol/I Cl4:1 = 0.3 umol/I Cl4:1 = 1 pmol/I
or C14:1/C2 = 0.01 ratio & C14:1/C2 = 0.013 ratio
9 Cl4:1 = 0.3 umol/I Cl4:1 = 0.3 umol/I Cl4:1 = 0.8 pmol/I
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
" Cl4:1 = 0.27 umol/I Cl4:1 = 0.27 | pmol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
9 C14:1 > 0.4 umol/I Cl4:1 > 0.4 umol/I
& C14:1/C2 > 0.013 ratio or C14:1/C2 > 0.013 ratio
60 Cl4:1 > 0.3 umol/I C14:1 > 0.3 umol/I
& C14:1/C2 > 0.02 ratio C14:1/C2 > 0.02 ratio
64 C14:1 = 03 umol/I C14:1 = 0.3 umol/I C14:1 = 03 umol/I C14:1 = 1 umol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
66 C14:1 = 03 umol/I C14:1 = 0.4 umol/I
or C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
67 C14:1 = 0.25 umol/I C14:1 = 0.27 umol/I
& C14:1/C2 = 0.018 ratio & C14:1/C2 = 0.024 ratio
68 C14:1 = 0.35 umol/I C14:1 = 0.35 umol/I
or C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
60 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 1 pmol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
C14:1 = 0.4 umol/I C14:1 = 0.4 umol/I C14:1 = 0.4 umol/I
71 & C14:1/C10 = 1 ratio & C14:1/C10 = 1 ratio C14:1/C10 = 1 ratio
& C14:1/C12 = 1 ratio & C14:1/C12 = 1 ratio C14:1/C12 = 1 ratio
7 C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
71 C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.012 ratio
75 Cl4:1 > 0.4 pumol/I Cl4:1 > 0.4 umol/I
& C14:1/C2 > 0.013 ratio & C14:1/C2 > 0.013 ratio
76 C14:1 = 0.25 umol/I Cl4:1 = 0.3 umol/I
& C14:1/C2 = 0.01 ratio & C14:1/C2 = 0.012 ratio
78 C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 umol/I & C14:1/C2 = 0.013 pumol/|
79 Cl4:1 > 0.4 umol/I C14:1 > 0.4 umol/I
& C14:1/C10 > 1 ratio & C14:1/C2 > 0.02 ratio
82 Cl4:1 > 0.4 umol/I C14:1 > 0.4 umol/I Cl4:1 > 1 umol/I
& C14:1/C2 > 0.013 ratio or C14:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio




83 Cl4:1 = 0.27 umol/I Cl4:1 = 0.27 | pmol/I Cl14:1 = 1 umol/I
C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
Cl4:1 > 0.3 umol/I C14:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I
” C14:1/C2 > 0.011 ratio C14:1/C2 > 0.011 ratio C14:1/C2 > 0.011 ratio
C14:1/C10 > 1 ratio C14:1/C10 > 1 ratio C14:1/C10 > 1 ratio
C14:1/C12 > 1 ratio C14:1/C12 > 1 ratio C14:1/C12 > 1 ratio
87 Cl4:1 = 0.35 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
C14:1/C2 = 0.013 ratio C14:1/C2 = 0.014 ratio C14:1/C2 = 0.014 ratio
Cl4:1 > 0.4 umol/I C14:1 > 0.3 umol/I
C14:1/C2 > 0.02 ratio C14:1/C2 > 0.02 ratio
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L C16-OH = ! 003 | pmol/l C16-OH > ! 005 } umol/l
& C18:1-OH > ! 003 | pumol/l | & C18:1-0H > | 005 } umol/l
R C16-OH > ! 004 | pmol/l C16-OH > ! 005 } umol/l
& C18:1-OH > ! 004 | pumol/l | & C18:1-0H > 1 005 ! pmol/l
6 C16-OH > 0.045 umol/I C16-OH > 0.05 umol/I
or C18:1-OH > 0.045 | pmol/I | or C18:1-0OH > 0.05 umol/|
S C16-OH =i 01 | pmol/l C16-OH > 1 01 | umol/l
or C18:1-OH = 0.1 umol/l | & C18:1-0OH > 0.1 umol/|
8 C16-OH > 0.045 umol/I C16-OH > 0.05 umol/I
& C18:1-OH > 0.045 umol/I & C18:1-OH > 0.05 pumol/|
10 C16-OH > 0.08 umol/I C16-OH > 0.08 umol/I
& C18:1-OH > 0.07 pumol/| & C18:1-OH > 0.07 umol/|
13 C16-OH = 0.035 umol/I C16-OH = 0.05 umol/I
& C18:1-OH > | 0035 | umol/l | & C18:1-0H > 1 005 | pmol/l
1 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.1 umol/l | & C18:1-OH = 0.1 umol/I
16 C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
or C18:1-OH = 0.05 umol/l | & C18:1-OH = 0.05 umol/I
17 C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
& €18:1-0H =1 005 | umol/l | & C18:1-OH > ! 005 | pmol/l
20 C16-OH > 0.05 umol/I C16-OH > 0.05 umol/I
& C18:1-OH > 0.05 umol/I & C18:1-OH > 0.05 pumol/|
”n C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
or C18:1-OH = 0.04 umol/l | & C18:1-OH = 0.04 umol/l
2 C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
or C18:1-OH = 0.05 umol/l | & C18:1-OH = 0.05 umol/l
23 C16-OH = 0.08 umol/I C16-OH = 0.08 umol/I
& €18:1-0H > 1 005 | umol/l | & C18:1-OH > 1 005 | pmol/l
2 C16-OH = 0.04 umol/I C16-OH = 0.04 umol/I C16-OH = 0.04 umol/I
& €18:1-0H > 1 004 | pmol/l | & C18:1-OH > 1 004 | pmol/l & C18:1-OH =1 004 | umol/l
2 C16-OH > 0.1 pumol/I C16-OH > 0.1 umol/I C16-OH > 0.1 umol/I
or C18:1-OH > 0.1 umol/I & C18:1-OH > 0.1 umol/| & C18:1-OH > 0.1 pumol/I|
» C16-0H = ! 004 | pmol/ C16-0H > | 0.045 | pmol/l
& C18:1-OH = 0.04 umol/I & C18:1-OH = 0.035 pumol/|
28 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.1 umol/l | & C18:1-OH = 0.1 umol/I
2 C16-OH Z | 005 | pmol/l C16-OH = 01 | umol/l C16-OH > 0.1 | pmol/l |BHRMETORN
or C18:1-OH = 0.05 umol/l | & C18:1-OH = 0.1 umol/I & C18:1-OH = 0.1 umol/I
2 C16-0H > ! 0035 | pmol/l C16-0H =1 005 | pmol/l
or C18:1-OH = 1 0.035 | umol/l | & C18:1-OH = 0.05 umol/I
a C16-0H = ! 007 | umol/ C16-0H =i 007 } umol/l
or €18:1-OH > ! 007 | umol/l | & €18:1-OH > ! 007 | umol/l
. C16-0H > ! 008 | umol/l C16-0H > i 008 | umol/l C16-0H > ! 008 | umol/l
or C18:1-OH = 0.04 umol/l | or C18:1-OH = 0.04 umol/I or C18:1-OH = 0.04 umol/I
N C16-0H > ! 005 | umol/l C16-0H =1 005 | pmol/l
& €18:1-OH > ! 007 | umol/l | & €18:1-OH > 1 007 | pmol/l




34 C16-OH > 0.04 pmol/I C16-OH > 0.06 pmol/|
& C18:1-OH > 0.04 umol/I & C18:1-OH > 0.06 pumol/|
4 C16-0H > ! 006 | umol/l C16-OH > 1 008 | pmol/l
or C18:1-0H > ! 003 | umol/l | & C18:1-0H > 1 005 | umol/l
2 C16-0H > ! 008 | umol/l C16-0H > 1 008 | pmol/l
& €18:1-OH > ! 005 | umol/l | & C18:1-0H > ! 005 | umol/l
0 C16-0H > ! 004 | pmol/ C16-OH > 1 005 } pmol/l
or €18:1-OH > | 006 | pumol/l| & €18:1-OH > | 007 | umol/l
22 C16-OH > 0.07 umol/I C16-OH > 0.08 pumol/|
& C18:1-OH > 0.06 umol/I & C18:1-OH > 0.07 umol/|
4 C16-OH = 0.05 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.05 umol/l | & C18:1-OH = 0.1 umol/I
47 C16-OH > 0.045 umol/I C16-OH > 0.05 pumol/| C16-OH > 0.05 umol/I
or C18:1-OH > 0.0665 i pumol/| or C18:1-OH > 0.07 umol/| or C18:1-OH > 0.07 umol/I|
.8 C16-0H > 1§ 0035 | umol/l C16-OH > 1§ 005 § pmol/l
or €18:1-OH > ! 0035 | umol/l | & €18:1-OH > ! 005 | umol/l
40 C16-0H > ! 005 | umol/l C16-OH > i 005 | pmol/l
& C18:1-OH = 0.07 umol/I & C18:1-OH = 0.07 umol/|
o C16-0H = ! 005 | umol/l C16-OH > i 005 | pmol/l
& C18:1-OH = 0.05 umol/I & C18:1-OH = 0.05 umol/|
9 C16-OH > 0.1 umol/I C16-OH > 0.1 umol/I
& C18:1-OH > 0.1 umol/I & C18:1-OH > 0.1 umol/|
60 C16-OH > 0.08 pumol/I C16-OH > 0.08 umol/I
& C18:1-OH > 0.07 umol/| & C18:1-OH > 0.07 umol/|
o C16-OH > ! 008 | umol/l C16-OH > 1 008 | pmol/l C16-0H > ! 008 | umol/l
& C18:1-OH = 0.05 umol/l | & C18:1-0OH = 0.05 umol/| C18:1-OH = 0.05 umol/I
o C16-0H = ! 005 | umol/ C16-OH > 1 005 } pmol/l
or C18:1-OH = 0.05 umol/I & C18:1-OH = 0.05 umol/|
67 C16-OH = 0.035 umol/I C16-OH = 0.047 pumol/|
& C18:1-OH = 0.034 | umol/l | & C18:1-0OH = 0.045 | umol/I
68 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.1 umol/l | & C18:1-0OH = 0.1 umol/I
69 C16-OH > ! 01 | umoll C16-OH > ! 01 | umol/l
- C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
& €18:1-0H > 01 | umol/t ]| & C18:1-OH > 0.1 | umol/l & C18:1-OH > 0.1 | umol/l
7 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
& €18:1-OH > 01 ! umol/l | & C18:1-OH > 0.1 | umol/l
71 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.1 umol/l | & C18:1-OH = 0.1 umol/I
75 C16-OH > 0.1 pumol/I C16-OH > 0.1 umol/I
& C18:1-OH > 0.1 umol/I & C18:1-OH > 0.1 pumol/|
6 C16-0H > ! 004 | pmol/l C16-0H =i 005 | pmol/l
& €18:1-OH > ! 004 | umol/l | & €18:1-OH > ! 005 | umol/l
8 C16-0H = ! 005 | pmol/l C16-0H = 1 005 | pmol/l
& €18:1-OH > 1 005 | umol/l | & €18:1-OH > ! 005 | umol/l
79 C16-OH > 0.05 umol/I C16-OH > 0.05 pmol/I
& C18:1-OH > 0.05 umol/I & C18:1-OH > 0.05 pumol/|
& C16-OH > 0.1 pumol/I C16-OH > 0.1 umol/I
& C18:1-OH > 0.1 umol/I & C18:1-OH > 0.1 pumol/|
o C16-0H = | 005 | pmol/l C16-0H = 1 005 } pmol/l
& €18:1-OH > 1 005 | umol/l | & €18:1-OH > ! 005 | umol/l
54 C16-OH > 0.07 umol/I C16-OH > 0.07 pmol/| C16-OH > 0.07 pumol/I
& C18:1-OH > 0.06 umol/I & C18:1-OH > 0.06 pumol/| & C18:1-OH > 0.06 pumol/I|
o C16-0H > ! 003 | umol/ C16-0H =1 004 | pmol/l C16-0H > ! 004 | pmol/
& C18:1-0H > ! 003 | pumol/l | & C18:1-0H > 1 004 | pmol/l & C18:1-0H > ! 004 | pmol/l
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C16-OH

0.05

pmol/I

C16-OH

0.05

pmol/|

C18:1-OH

0.05

umol/I

C18:1-0OH

0.05

umol/|
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1 €0/(C16+C18) > 60 ratio €0/(C16+C18) > 90 ratio
5 €0/(C16+C18) > 60 ratio €0/(C16+C18) > 80 ratio
& Cco = 65 umol/I Cco = 65 umol/I
6 Co > 50 umol/I co > 50 umol/I
or €0/(C16+C18) > 72 ratio €0/(C16+C18) > 80 ratio
7 €0/(C16+C18) = 100 ratio €0/(C16+C18) > 100 ratio
R €0/(C16+C18) > 90 ratio €0/(C16+C18) > 100 ratio
& Co > 72 umol/I Cco > 80 umol/|
B €0/(C16+C18) > 40 ratio €0/(C16+C18) > 40 ratio
& Co > 80 umol/I Cco > 80 umol/|
13 co = 100 umol/I co = 100 umol/I
& C0/(C16+C18) > 90 ratio €0/(C16+C18) > 100 ratio
14 €0/(C16+C18) = | 100 ratio €0/(C16+C18) > | 100 ratio
1 C0/(C16+C18) > 80 ratio €0/(C16+C18) > 80 ratio
or Cco = 80 umol/I
17 C0/(C16+C18) > 100 | pmol/l €0/(C16+C18) > 100 | umol/l
20 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > 100 ratio
21 C0/(C16+C18) > 50 pmol/I €0/(C16+C18) > 50 umol/|
22 €0/(C16+C18) = | 100 ratio €0/(C16+C18) > | 100 ratio
23 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > i 100 ratio
24 €0/(C16+C18) = 80 ratio €0/(C16+C18) > 100 ratio €0/(C16+C18) = | 100 ratio
25 C0/(C16+C18) > 75 ratio C0/(C16+C18) > 75 ratio C0/(C16+C18) > 75 ratio
27 €0/(C16+C18) = 75 ratio €0/(C16+C18) > 80 ratio
28 C0/(C16+C18) > ! 100 ratio €0/(C16+C18) > | 100 ratio
29 C0/(C16+C18) = 90 ratio C0/(C16+C18) = 100 ratio C0/(C16+C18) = 100 ratio |EERILEFATHRN
30 C0/(C16+C18) = 35 ratio C0/(C16+C18) = 60 ratio
31 €0/(C16+C18) = 50 ratio €0/(C16+C18) > 50 ratio
32 C0/(C16+C18) = 40 umol/I C0/(C16+C18) = 40 umol/I
33 €0/(C16+C18) = 80 ratio C0/(C16+C18) > 80 ratio
34 C0/(C16+C18) > 75 ratio C0/(C16+C18) > 100 ratio
37 Cco = 50 umol/I co = 60 umol/I
or C0/(C16+C18) = 35 ratio C0/(C16+C18) = 40 ratio
38 €0/(C16+C18) > 100 | pmol/l €0/(C16+C18) > 100 | umol/l
40 C0/(C16+C18) = 60 ratio C0/(C16+C18) = 70 ratio
9 co > 80 pumol/I Cco > 80 umol/I
& C0/(C16+C18) > 96 ratio C0/(C16+C18) > 96 ratio
43 €0/(C16+C18) > 90 ratio €0/(C16+C18) > 100 ratio
47 co > 66.5 umol/I Co > 70 umol/I 20}3/6/14*42023/10/23
or C0/(C16+C18) > 76 ratio C0/(C16+C18) > 80 ratio HERIRENY MOME
48 C0/(C16+C18) = 35 ratio C0/(C16+C18) = 60 ratio
49 €0/(C16+C18) > 30 ratio €0/(C16+C18) > 80 ratio
54 €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > | 100 ratio
59 €0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
o €0/(C16+C18) > 40 ratio €0/(C16+C18) > 40 ratio
& co > 80 umol/I Cco > 80 pumol/|
64 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > | 100 ratio €0/(C16+C18) > i 100 ratio




o6 €0/(C16+C18) = 80 ratio €0/(C16+C18) > 80 ratio
or co = 80 umol/I
67 €0/(C16+C18) > 75 ratio €0/(C16+C18) > 80 ratio
68 €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > 1 100 ratio
69 €0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
71 €0/(C16+C18) > | 100 ratio C0/(C16+C18) > | 100 ratio C0/(C16+C18) > | 100 ratio
73 €0/(C16+C18) = 100 ratio €0/(C16+C18) > 100 ratio
74 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > ! 100 ratio
s €0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
& [¢0] > 80 umol/I C0 > 80 umol/|
6 €0/(C16+C18) > 60 ratio €0/(C16+C18) > 80 ratio
& Cco = 65 umol/I Cco = 65 umol/I
78 €0/(C16+C18) = 60 umol/I €0/(C16+C18) > 60 umol/|
2 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > ! 100 ratio
& Co > 80 umol/I Cco > 80 umol/|
82 C0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio
83 €0/(C16+C18) = 100 ratio €0/(C16+C18) > 100 ratio
84 co > 80 umol/I Co > 80 umol/I
& C0/(C16+C18) > 9% ratio €0/(C16+C18) > 96 ratio
o €0/(C16+C18) > 80 ratio €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > ! 100 ratio
& Cco = 80 umol/I C0 = 80 umol/I C0 = 80 pmol/I
€0/(C16+C18) > | 100 ratio €0/(C16+C18) > ! 100 ratio
& Cco > 80 umol/I co > 80 umol/I
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(C16+C18:1)/C2 > 0.3 ratio (C16+C18:1)/C2 > i 034 ratio
1 & C14/C3 = ! 025 ratio c14/c3 > 0.3 ratio
& C16 = 2 umol/I C16 = 2.2 umol/I
5 (C16+C18:1)/C2 = ! 036 ratio (C16+C18:1)/C2 > ! 038 ratio
& C14/C3 = 0.34 ratio C14/C3 = 0.36 ratio
. (C16+C18:1)/C2 > ! 036 ratio (C16+C18:1)/C2 > 1 039 ratio
or C14/C3 > 0.2945 ratio C14/C3 > 0.31 ratio
, (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio
or C14/C3 = 0.3 ratio C14/C3 > 0.3 ratio
s C14/C3 > 0.3285 ratio C14/C3 > 0.365 ratio
& | (C16+C18:1)/C2 > ! 036 ratio (C16+C18:1)/C2 > 0.4 ratio
10 (C16+C18:1)/C2 > 0.42 ratio (C16+C18:1)/C2 > 0.42 ratio
C14/C3 > 0.34 ratio C14/C3 > 0.34 ratio
1 (C16+C18:1)/C2 = ! 035 ratio (C16+C18:1)/C2 > 0.4 ratio
& C14/C3 = 0.35 ratio C14/C3 = 0.41 ratio
W (C16+C18:1)/C2 = i 037 ratio (C16+C18:1)/C2 > i 037 ratio
or C14/C3 = 0.33 ratio C14/C3 = 0.33 ratio
1 (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio
or C14/C3 = 0.35 ratio C14/C3 = 0.35 ratio
17 (C16+C18:1)/C2 = 0.36 | umol/l (C16+C18:1)/C2 = 0.36 | umol/l
& Cc14/c3 = 0.36 umol/I C14/C3 = 0.36 umol/I
2 (C16+C18:1)/C2 > 0.5 ratio (C16+C18:1)/C2 > 0.5 ratio
& c14/c3 > 0.35 ratio Cc14/c3 > 0.35 ratio
” (C16+C18:1)/C2 3 0.4 ! pmol/l (C16+C18:1)/C2 > 0.4 ! pmol/l
or C14/c3 = 0.35 umol/I C14/c3 = 0.35 umol/I
2 (C16+C18:1)/C2 = 0.36 ratio (C16+C18:1)/C2 = 0.36 ratio
or Cc14/c3 = 0.44 ratio C14/C3 = 0.44 ratio
23 c14/c3 = 0.35 ratio C14/c3 = 0.35 ratio
& (C16+C18:1)/C2 = 0.54 ratio (C16+C18:1)/C2 = 0.54 ratio
" C14/c3 = 0.35 ratio C14/C3 = 0.4 ratio (C16+C18:1)/C2 = 0.5 ratio
& (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.5 ratio c14/C3 > 0.4 ratio
2 (C16+C18:1)/C2 > 1 037 ratio (C16+C18:1)/C2 > 1 037 ratio (C16+C18:1)/C2 > 1 037 ratio
or c14/c3 > 0.42 ratio Cc14/c3 > 0.42 ratio Cc14/c3 > 0.42 ratio
27 (C16+C18:1)/C2 = 0.5 ratio (C16+C18:1)/C2 = 0.6 ratio
& Cc14/c3 = 0.35 ratio C14/C3 = 0.4 ratio
28 (C16+C18:1)/C2 = 0.45 ratio (C16+C18:1)/C2 = 0.45 ratio
or Cc14/c3 = 0.46 ratio C14/C3 = 0.46 ratio
29 (C16+C18:1)/C2 = 0.29 ratio (C16+C18:1)/C2 = 0.32 ratio (C16+C18:1)/C2 = 0.32 ratio |EBERIMMFATHRN
or Cc14/c3 = 0.26 ratio C14/C3 = 0.35 ratio C14/c3 = 0.35 ratio
30 (C16+C18:1)/C2 = 0.38 ratio (C16+C18:1)/C2 = 0.42 ratio
or Cc14/c3 = 0.4 ratio C14/c3 = 0.57 ratio
31 c14/c3 = 0.31 ratio c14/c3 = 0.31 ratio
or (C16+C18:1)/C2 = ! 044 ratio (C16+C18:1)/C2 > | 044 ratio
5 €14/C3 =1 039 ! umol/l c14/C3 > ! 039 ! pmol/l c14/C3 =1 039 ! umol/l
& (C16+C18:1)/C2 = ! 042 | pmol/l (C16+C18:1)/C2 > ! 042 ! pmol/l (C16+C18:1)/C2 = ! 042 | umol/l
- (C16+C18:1)/C2 > | 0438 ! ratio (C16+C18:1)/C2 > | 0438 | ratio




& c14/c3 > ! 0397 | rato | & c14/c3 > | 0397 | ratio
34 (C16+C18:1)/C2 > 0.34 ratio (C16+C18:1)/C2 > 0.39 ratio
& C14/C3 > 0.3 ratio & C14/C3 > 0.44 ratio
37 c14/c3 = 0.25 ratio c14/c3 = 0.3 ratio c14/c3 = 0.3 ratio
or | (Cl6+C18:1)/C2 > 1 045 | rato | & ! (Cle+C18:1)/C2 | = 0.5 ratio (C16+C18:1)/C2 > 0.5 ratio
28 (Cl6+C18:1)/C2 | = | 04 | pmol/l (Cl6+C18:1)/C2 | = | 05 | umol/l
& c14/c3 =1 035 |umol/l | & c14/c3 > 1 035 | pmol/l
w0 (c16+C18:1)/C2 | = | 032 | ratio (C16+C18:1)/C2 | = | 04 ratio (Cle+C18:1)/C2 | = | 04 ratio
or c14/c3 = 0.32 ratio & C14/c3 = 0.41 ratio c14/c3 = 0.41 ratio
2 (C16+C18:1)/C2 > 0.37 ratio (C16+C18:1)/C2 > 0.37 ratio
& C14/C3 > 0.34 ratio & C14/C3 > 0.34 ratio
R (c16+C18:1)/C2 | = | 029 | ratio (c16+C18:1)/C2 | = | 032 | ratio
or c14/c3 = 0.26 ratio & C14/c3 = 0.35 ratio
“ (C16+C18:1)/C2 | > | 0.4275 | ratio (c16+C18:1)/C2 | > | 045 | ratio (c16+C18:1)/C2 | > | 045 | ratio sgoi?;ﬁ/ 71J4~2023/ 10/23
or c14/c3 > | 0418 | rato | & c14/c3 > | 044 | ratio c14/c3 > | 044 | ratio | Y hATME
is (Cl6+C18:1)/C2 | = | 038 | ratio (c16+C18:1)/C2 | = | 0.42 ! ratio
or c14/c3 = 0.4 ratio c14/c3 = 0.57 ratio
40 (Cl6+C18:1)/C2 | = | 0438 | ratio (C16+C18:1)/C2 | = | 0.438 ! ratio (C16+C18:1)/C2 | = | 0438 ! ratio
or c14/c3 = 0.397 ratio or C14/c3 = 0.397 ratio c14/c3 = 0.397 ratio
B (Cl6+C18:1)/C2 | = | 065 | ratio (C16+C18:1)/C2 | = | 0.65 ! ratio
& c14/c3 > 0.4 rato | & c14/c3 > 0.4 ratio
o (Cle+C18:1)/C2 | > | 0.4 ratio (Cl6+C18:1)/C2 | > | 04 ratio
& C14/C3 > 0.35 ratio & C14/C3 > 0.35 ratio
60 (C16+C18:1)/C2 > 0.42 ratio (C16+C18:1)/C2 > 0.42 ratio
& C14/C3 > 0.34 ratio C14/C3 > 0.34 ratio
61 c14/c3 = 0.35 ratio c14/c3 = 0.35 ratio c14/c3 = 0.35 ratio
& | (c16+C18:1)/C2 | = | 054 | ratio | & | (cie+ci:1)/c2 | = | 054 | ratio (C16+C18:1)/C2 | = | 054 | ratio
o (Cle+C18:1)/C2 | = | 04 ratio (Cl6+C18:1)/C2 | = | 04 ratio
or c14/c3 = 0.35 ratio & c14/c3 = 0.35 ratio
. (C16+C18:1)/C2 = 0.47 ratio (C16+C18:1)/C2 = 0.52 ratio
& C14/C3 = 0.3 ratio & C14/C3 = 0.4 ratio
o8 (C16+C18:1)/C2 = 0.45 ratio (C16+C18:1)/C2 = 0.45 ratio
or c14/c3 = 0.46 ratio & c14/c3 = 0.46 ratio
60 (C16+C18:1)/C2 = 0.38 ratio (C16+C18:1)/C2 = 0.38 ratio
& C14/C3 = 0.41 ratio & C14/C3 = 0.41 ratio
n (C16+C18:1)/C2 = 0.45 ratio (C16+C18:1)/C2 = 0.45 ratio (C16+C18:1)/C2 = 0.45 ratio
& C14/C3 = 0.4 ratio & C14/C3 = 0.4 ratio C14/C3 = 0.4 ratio
7 (C16+C18:1)/C2 = 0.35 umol/I (C16+C18:1)/C2 = 0.35 ratio
& C14/C3 = 0.3 ratio & C14/C3 = 0.3 ratio
2 (C16+C18:1)/C2 > ! 037 | ratio (C16+C18:1)/C2 > 1 037 ! ratio
or c14/c3 = 0.33 ratio & c14/c3 = 0.33 ratio
75 C14/C3 > 0.48 ratio C14/C3 > 0.48 ratio
& (C16+C18:1)/C2 > 0.54 ratio & (C16+C18:1)/C2 > 0.54 ratio
6 (C16+C18:1)/C2 > ! 036 | ratio (C16+C18:1)/C2 > | 038 | ratio
& C14/C3 = 0.34 ratio & C14/C3 = 0.36 ratio
8 (C16+C18:1)/C2 = ! 043 | pmol/l (C16+C18:1)/C2 =1 043 | pmol/l
& c14/C3 > 1 035 | umol/l | & c14/C3 > 1 035 | umol/l
2 (C16+C18:1)/C2 > | 062 | ratio (C16+C18:1)/C2 > | 062 ratio
& C14/C3 > 0.68 ratio & C14/C3 > 0.68 ratio
o (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 | > 0.4 ratio
& C14/C3 > 0.35 ratio C14/C3 > 0.35 ratio
o (C16+C18:1)/C2 > ! 065 | ratio (Cle+C18:1)/C2 | = | 0.65 ratio
& C14/C3 = 0.4 ratio & C14/C3 = 0.4 ratio
o (C16+C18:1)/C2 > | 037 | ratio (Cl6+C18:1)/C2 | > | 037 | ratio (Cl6+C18:1)/C2 | > | 037 | ratio
& c14/c3 > 0.34 ratio & c14/c3 > 0.34 ratio c14/c3 > 0.34 ratio




&7 (C16+C18:1)/C2 = 0.4 ratio (C16+C18:1)/C2 > ! 045 ratio (C16+C18:1)/C2 = | 045 ratio
€14/C3 > i 035 ratio C14/C3 > 0.4 ratio C14/C3 = 0.4 ratio

(C16+C18:1)/C2 > 1 062 ratio (C16+C18:1)/C2 > | 055 ratio

c14/C3 > 1 068 ratio c14/c3 > 1 069 ratio
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17 Cit = 50 umol/I Cit = 50 umol/l
Cit = 85 umol/I Cit = 85 umol/I SNVWIRIBRE (—RIRE -HRRE) (OVT
32 or Phe = ! 150 | pmol/l | or Phe > ! 150 ! umol/l & o
or Met = 60 umol/l | or Met = 60 umol/I gﬁ'zr:‘e\'m?f',\ArgF\Ef\1#2[&21—?160“?333‘
Cit > 47.5 umol/I Cit > 50 umol/|
47 or Phe > 114 umol/I | or Phe > 120 umol/I
or Met > 57 umol/I | or Met > 60 umol/|
69 Cit/Total_AA = | 0.025 ratio Cit/Total_AA = | 0.025 ratio Cit = 100 pmol/I
Cit = 50 umol/I Cit = 50 umol/I
71 or Phe = 180 umol/l | or Phe = 180 umol/I
or Met = 80 umol/I | or Met = 80 umol/I
82 Cit > 50 umol/I Cit > 50 umol/| Cit > 80 umol/I|
Cit > 40 umol/I Cit > 40 umol/I [—RIRE -FERARE hy MAJEENN]
81 & Phe > 100 umol/l | & Phe > 100 umol/I ‘;': 'Cl'\i/tr>> ‘;%(L]Jr:}r?\l{)ll/l
or Cit > 40 umol/l | or Cit > 40 umol/I
& Met > 67 umol/l | & Met > 67 umol/|
Cit = 35 umol/I Cit = 38 umol/I
87
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10 C5:1 > 0.05 umol/I C5:1 > 0.05 umol/|
17 C5-OH = 0.6 umol/I C5-OH = 0.6 umol/I
& C5:1 = 0.025 | umol/l | & C5:1 = 0.025 | pmol/I
2 C5-OH = 1 umol/I C5-OH = 1 umol/I
or C5:1 = 0.05 umol/I | or C5:1 = 0.05 umol/l
47 C5:1 > 1 0.0475 | umol/l C5:1 > 0.05 umol/I
or C5-OH > 0.95 umol/I | or C5-OH > 1 umol/|
60 C5:1 > 0.05 umol/I C5:1 > 0.05 umol/|
69 C5:1 = 0.1 umol/I C5:1 = 0.1 umol/I
- C5:1 = 0.1 umol/I C5:1 = 0.1 umol/I
& C5-OH = 1 umol/l | & C5-0OH = 1 umol/I
5 C5-OH > 1 umol/I C5-OH > 1 umol/I C5-OH > 2 umol/I
& C5:1 > 0.01 umol/I & C5:1 > 0.01 umol/|
81 C5-OH > 1 umol/I C5-OH > 1 umol/I C5-OH > 2 umol/I
& C5:1 > 0.02 umol/I & C5:1 > 0.02 umol/|
C5-OH = 0.6 umol/I C5-OH = 0.8 umol/I
& C5:1 = 0.025 | umol/l | & C5:1 = 0.025 i umol/I
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Cc8 > 0.3 umol/| Cc8 > 0.3 umol/|
10 & C10 > 0.4 umol/I & c10 > 0.4 umol/I
& C12 > 0.4 umol/| & C12 > 0.4 umol/|
c8 = 0.3 umol/I c8 = 0.3 umol/I
17 & 10 > 04 | pumol/l | & c10 > 04 | umol/l
& c10/C2 > | 0014 | ymol/l | & c10/C2 > | 0014 | pmol/l
32 c10 = 0.4 umol/I C10 = 0.4 umol/l c10 = 0.4 umol/I
c8 > 0.22 umol/I c8 > 0.23 umol/I
47 or C10 > 0.38 umol/I | or C10 > 0.4 umol/I
or C12 > 0.38 umol/I | or C12 > 0.4 umol/|
Cc8 > 0.3 umol/I Cc8 > 0.3 umol/I
60 & C10 > 0.4 umol/I & C10 > 0.4 umol/I
& C12 > 0.4 umol/| & C12 > 0.4 umol/|
6o C10 = 0.5 umol/I C10 = 0.5 umol/I
& 8 = 0.3 umol/l | & [« = 0.3 umol/I
c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 pmol/I
n & c10 = 0.5 umol/l | & c10 = 0.5 umol/I & c10 = 0.5 umol/I
& C12 = 0.4 umol/l | & C12 = 0.4 umol/I & C12 = 0.4 pmol/I
& C10/C2 = 0.014 ratio & C10/C2 = 0.014 ratio & C10/C2 = 0.014 ratio
c8 > 0.3 umol/I c8 > 0.3 umol/I
2 & C10 > 0.4 umol/I & C10 > 0.4 umol/I
& C12 > 0.4 umol/I & C12 > 0.4 umol/I
& c10/c2 > 0.014 ratio & c1o0/c2 > 0.014 ratio
c8 > 0.3 umol/I c8 > 0.3 pumol/| c8 > 0.3 umol/I
84 & C10 > 0.4 umol/I & C10 > 0.4 umol/I & C10 > 0.4 umol/I
& C12 > 0.4 umol/I & C12 > 0.4 pumol/| & C12 > 0.4 umol/I
& c10/c2 > 0.011 ratio & c10/C2 > 0.011 ratio & c1o0/c2 > 0.011 ratio
c8 > 0.3 | pmol/l c8 > 0.3 | pmol/l
& c10 = 0.28 umol/l | & Cc10 = 0.35 umol/I
87 & c10/c2 = 0.014 ratio
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17 co < 9 umol/I C0 < 9 umol/|
25 Cco < 8 umol/I Cco < 8 umol/|
29 co < 10 umol/I Cco = 8 umol/I
32 Cco = 9 pmol/I C0 = 9 umol/I
47 co < 1 8925 ! umol/l o < 1 85 | pumol/l
69 Cco = 8 pmol/I C0 = 8 umol/I
71 co = 9 umol/I Cco = 9 umol/l
82 Cco < 8.6 umol/I Cco < 8.6 umol/|
83 co = 7 umol/I Cco = 7 umol/I
84 Cco < 8 umol/I Cco < 8 umol/|
co = 10 umol/I co = 9 umol/I
87




